fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode

1 130708100 DXTEND MBLOC HUM EPI 1 D8 STD 1 10603295027102 ”ll || ||| ||| ||||||‘||||H|| ||‘|
(01)10603295027102

2 130710000 DXTEND MODULAR HUM STEM D10 HA 1 10603295027126 ”ll || ||| ||| ||||||||‘||‘|I‘| |‘|
(01)10603295027126

3 130710100 DXTEND MBLOC HUM EPI 1 D10 STD 1 10603295027133 ”ll || ||| ||| ||||||”|”| |”| |‘|
(01)10603295027133

4 130710200 DXTEND MBLOC HUM EPI 2 D10 STD 1 10603295027157 ”ll || ||| ||| |||||||”|||||‘| |‘|
(01)10603295027157

5 130712000 DXTEND MODULAR HUM STEM D12 HA 1 10603295027171 || ” ”ll |‘ || | | ||| ||| |||‘ || |‘|
(01)10603295027171

6 130712100 DXTEND MBLOC HUM EPI 1 D12 STD 1 10603295027188 ”ll || ||| ||| |||||||”|‘ ‘ I‘l |‘|
(01)10603295027188

7 130712200 DXTEND MBLOC HUM EPI 2 D12 STD 1 10603295027201 ”ll || ||| ||| |||||H|”| ‘" |‘|
(01)10603295027201

8 130714000 DXTEND MODULAR HUM STEM D14 HA 1 10603295027225 ”ll || ||| ||| |||||‘||‘|| || ‘l |‘|
(01)10603295027225

9 130714100 DXTEND MBLOC HUM EPI 1 D14 STD 1 10603295027232 ”ll || ||| ||| |||||‘”|||m|| |‘|
(01)10603295027232

10 130714200 DXTEND MBLOC HUM EPI 2 D14 STD 1 10603295027256 ”ll || ||| ||| |||||‘|”||H||| |‘|
(01)10603295027256

11 130716000 DXTEND MODULAR HUM STEM D16 HA 1 10603295027270 ”ll || ||| ||| |||||‘|||‘|||||| |‘|
(01)10603295027270

12 130738106 DXTEND RETENT PE CUP D38 +6MM 1 10603295027355 ”ll || ||| ||| |||”||”||H||| |‘|

(01)10603295027355




fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode

13 130738203 DXTEND STAND PE CUP D38 +3MM 1 10603295027362 ”ll || ||| ||| |||”|||‘||HI‘| |‘|
(01)10603295027362

14 130738206 DXTEND STAND PE CUP D38 +6MM 1 10603295027379 ”ll || ||| ||| |||”| ||||‘| ”l |‘|
(01)10603295027379

15 130738209 DXTEND STAND PE CUP D38 +9MM 1 10603295027386 ”ll || ||| ||| |||”| |‘|||‘ ”l |‘|
(01)10603295027386

16 130738703 X-LINK HIMO HUM CUP 38+3 1 10603295027485 ”ll || ||| |||”||”||
(01)10603295027485

17 130738706 X-LINK HIMO HUM CUP 38+6 1 10603295027492 || ” ”ll |‘ || | | ||| | | |||”||‘|| ‘l H |‘|
(01)10603295027492

18 130738709 X-LINK HIMO HUM CUP 38+9 1 10603295027508 ”ll || ||| ||||| |||‘ ‘"
(01)10603295027508

19 130742106 DXTEND RETENT PE CUP D42 +6MM 1 10603295027522 ”ll || ||| ||| ||||| ”l ‘ll ‘l |‘|
(01)10603295027522

20 130742203 DXTEND STAND PE CUP D42 +3MM 1 10603295027539 ”ll || ||| ||| ||||| ‘"‘"“ | |‘|
(01)10603295027539

21 130742206 DXTEND STAND PE CUP D42 +6MM 1 10603295027546 ”ll || ||| ||| ||||| ‘l"Hl || |‘|
(01)10603295027546

22 130742209 DXTEND STAND PE CUP D42 +9MM 1 10603295027553 ”ll || ||| ||| ||||| m |” ‘l |‘|
(01)10603295027553

23 130742703 X-LINK HIMO HUM CUP 42+3 1 10603295027652 ”ll || ||| ||| |||||‘|” |H ”"‘l
(01)10603295027652

24 130742706 X-LINK HIMO HUM CUP 42+6 1 10603295027669 ”ll || ||| ||| |||||‘||‘ ‘" ||| |‘|
(01)10603295027669

25 130742709 X-LINK HIMO HUM CUP 42+9 1 10603295027676 ”ll || ||| ||| |||||‘|||||‘I‘|| |‘|
(01)10603295027676

217



fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode

26 223000062 ST APG QC CENT BIT +3 2 10603295103356 ”ll || ||| ||”|”||”||H || |‘|
(01)10603295103356

27 223000063 ST APG QC CENT BIT +5 2 10603295103363 ”ll || ||| ||”|”|||m|‘ || |‘|
(01)10603295103363

28 223000064 ST APG QC CENT BIT +7 2 10603295103370 ”ll || ||| ||”|”| |||‘ || |‘|
(01)10603295103370

29 223000095 APG+ QC PERIPH BIT 2 10603295103455 ”ll || ||| ||”|| ||”||H || |‘|
(01)10603295103455

30 223000096 ST APG QC PERIP POS SUP BIT +3 2 10603295103462 || ” ”ll |‘ || | | ||| ||”|| || m” | |‘|
(01)10603295103462

31 223000097 ST APG QC PERIP POS SUP BIT +5 2 10603295103479 ”ll || ||| ||”|| |||||‘||”
(01)10603295103479

32 223000098 ST APG QC PERIP POS SUP BIT +7 2 10603295103486 ”ll || ||| ||”|| ||”||m|
(01)10603295103486

33 230790005 DRILL BIT D2.5 X 170 MM 2 10603295116547 ”ll || ||| ||||‘||m||||‘||
(01)10603295116547

34 130720101 DXTEND MOD CENT EPI 1 HA 1 10603295027287 ”ll || ||| ||| |||||‘|”|||I|‘| |‘|
(01)10603295027287

35 130720102 DXTEND MOD EPI 1 ECC LEFT HA 1 10603295027294 ”ll || ||| ||| |||||m||m ||| |‘|
(01)10603295027294

36 130720103 DXTEND MOD EPI 1 ECC RIGHT HA 1 10603295027300 ”ll || ||| ||| |||”|‘|”||H| ||‘|
(01)10603295027300

37 130720201 DXTEND MOD CENT EPI 2 HA 1 10603295027317 ”ll || ||| ||| |||”|‘|||||||I| |‘|
(01)10603295027317

38 130720202 DXTEND MOD EPI 2 ECC LEFT HA 1 10603295027324 ”ll || ||| ||| |||”|||‘”|| ||| |‘|
(01)10603295027324

317



fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode

39 130720203 DXTEND MOD EPI 2 ECC RIGHT HA 1 10603295027331 ”ll || ||| ||| |||”|”|‘|||||| |‘|
(01)10603295027331

40 130760038 DXTEND GLENOSPHERE ECC D38MM 1 10603295027744 ”ll || ||| ||| ||||||”|”||H
(01)10603295027744

41 130760042 DXTEND GLENOSPHERE ECC D42MM 1 10603295027751 ”ll || ||| ||| ||||||||H|
(01)10603295027751

42 130760138 DXTEND GLENOSPHERE STD D38MM 1 10603295027768 ”ll || ||| ||| ||||||||m
(01)10603295027768

43 130760142 DXTEND GLENOSPHERE STD D42MM 1 10603295027775 || ” ”ll |‘ || | |||| ||| ||||||||||| ‘Ill |‘|
(01)10603295027775

44 130761038 XTNDGLENO ECCD38MM+0MM SHRTPST 1 10603295502593 ”ll || ||| || ||| ‘l” ‘l”l‘l
(01)10603295502593

45 130761042 XTNDGLENO ECCD42MM+0MM SHRTPST 1 10603295502609 ”ll || ||| || || ‘"‘ |||‘||
(01)10603295502609

46 130761138 XTNDGLENO D38MM +0OMM SHRTPST 1 10603295502555 ”ll || ||| || || mllH
(01)10603295502555

47 130761142 XTNDGLENO D42MM +OMM SHRTPST 1 10603295502562 ”ll || ||| || || ||‘||‘|
(01)10603295502562

48 130762038 XTND GLENO ECC D38MM +2MM 1 10603295502432 ”ll || ||| || || |”|||‘”|| |‘|
(01)10603295502432

49 130762042 XTND GLENO ECC D42MM +2MM 1 10603295502449 ”ll || ||| || || |”||m| || |‘|
(01)10603295502449

50 130762138 XTND GLENO D38MM +2MM 1 10603295502494 ”ll || ||| || || m"m | ‘l |‘|
(01)10603295502494

51 130762142 XTND GLENO D42MM +2MM 1 10603295502500 ”ll || ||| || || ‘"Hl”ll"‘l |‘|
(01)10603295502500

417



fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode

52 130764038 XTND GLENO ECC D38MM +4MM 1 10603295502470 ”ll || ||| || ||| ||||‘|” ||| |‘|
(01)10603295502470

53 130764042 XTND GLENO ECC D42MM +4MM 1 10603295502487 ”ll || ||| || || ||”|||”|
(01)10603295502487

54 130764138 XTND GLENO D38MM +4MM 1 10603295502456 ”ll || ||| || || ||”||‘|H
(01)10603295502456

55 130764142 XTND GLENO D42MM +4MM 1 10603295502463 ”ll || ||| || ||| |||‘”|HI
(01)10603295502463

56 130766038 XTND GLENO ECC D38MM +6MM 1 10603295502630 || ” ”ll |‘ || | | ||| || |||
(01)10603295502630

57 130766042 XTND GLENO ECC D42MM +6MM 1 10603295502647 ”ll || ||| || ||| ‘"‘ ‘lllllH
(01)10603295502647

58 130766138 XTND GLENO D38MM +6MM 1 10603295502616 ”ll || ||| || ||| ‘"‘ ||||‘HI||‘|
(01)10603295502616

59 130766142 XTND GLENO D42MM +6MM 1 10603295502623 ”ll || ||| || ||| ‘"‘ ””"l" |‘|
(01)10603295502623

60 130768038 XTND GLENO ECC D38MM +8MM 1 10603295502517 ”ll || ||| || ||| |||||m| |‘|
(01)10603295502517

61 130768042 XTND GLENO ECC D42MM +8MM 1 10603295502524 ”ll || ||| || || ””ll ‘ll |‘|
(01)10603295502524

62 130768138 XTND GLENO D38MM +8MM 1 10603295502531 ”ll || ||| || || ml”"l |‘|
(01)10603295502531

63 130768142 XTND GLENO D42MM +8MM 1 10603295502548 ”ll || ||| || || ‘ll”l ‘ ‘l |‘|
(01)10603295502548

64 230790004 SCREW GUIDE PIN D1.2X5 6 10603295116530 ”ll || ||| || ||||‘|| ml"”"‘l
(01)10603295116530

517



fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode

65 230796000 GLENO GUIDE PIN D1.5 LG 300 MM 6 10603295116608 ”ll || ||| ||||‘||H|||m||| |‘|
(01)10603295116608

66 223000019 APG+ 2.5MM BREAKAWAY GUIDE PIN 1 10603295102922 ”ll || ||| ||||m|||‘||‘||| | |‘|
(01)10603295102922

67 230787004 METAGLENE GUIDE PIN DIA 2.5MM 1 10603295116455 ”ll || ||| ||||m||”||”||| |‘|
(01)10603295116455

68 130760000 DXTEND METAGLENE 1 10603295027737 ”ll || ||| ||||||”"||” ‘l |‘|
(01)10603295027737

69 130770018 DXTEND SCREW NO LOCK D4.5X18MM 4 10603295027782 || ” ”ll |‘ || | |||| ||| |||||||”||H ‘l"‘l
(01)10603295027782

70 130770024 DXTEND SCREW NO LOCK D4.5X24MM 4 10603295027799 ”ll || ||| ||| |||||||‘||‘|I||| |‘|
(01)10603295027799

71 130770030 DXTEND SCREW NO LOCK D4.5X30MM 4 10603295027805 ”ll || ||| ||| ||||‘ |||”|H | |‘|
(01)10603295027805

72 130770036 DXTEND SCREW NO LOCK D4.5X36MM 4 10603295027812 ”ll || ||| ||| ||||‘ ||||H I‘l |‘|
(01)10603295027812

73 130770042 DXTEND SCREW NO LOCK D4.5X42MM 4 10603295027829 ”ll || ||| ||| ||||‘ ”l‘"”
(01)10603295027829

74 130790024 DXTEND SCREW LOCK D4.5X24MM 4 10603295027836 ”ll || ||| ||| ||||‘ ‘"lHl
(01)10603295027836

75 130790030 DXTEND SCREW LOCK D4.5X30MM 4 10603295027843 ”ll || ||| ||| ||||‘ ‘l”l‘ ”
(01)10603295027843

76 130790036 DXTEND SCREW LOCK D4.5X36MM 4 10603295027850 ”ll || ||| ||| ||||‘ ||H||H |
(01)10603295027850

77 130790042 DXTEND SCREW LOCK D4.5X42MM 4 10603295027867 ”ll || ||| ||| ||||‘ ||‘|||||‘
(01)10603295027867

6/7



fohmonafohmron

Report Generated On: 06/14/2025

Set Code: 009530657
Set Barcode:
Description: STEM

Case Report ID:

&8 Primary Tray

Unique Device ldentification

Product # Product Desc. QTY UDI-DI UDI Barcode
78 130790048 DXTEND SCREW LOCK D4.5X48MM 4 10603295027874 |H ‘l”l”l”l”l”l” ||| |||| ||||‘||||”|I‘ ‘l |‘|
(01)10603295027874
i o s l o |H ‘l”l”l”l”lHl” ||| ||| |||| |||”|”||m ||| |‘|
(01)10603295027348

717



http://www.tcpdf.org

